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Sam is 120 cm tall. Carrie is 10 cm taller.
How tall is Carrie?

Harry is 110 cm tall.  Gary is 20 cm shorter.
How tall is Gary?

Sumit ran 3 %2 kilometres.
How many metres is this?

Draw a line more than 4 centimetres long?

Draw a square with each side 3 centimetres long.

How many metres in one and a half Rilometres?

How many centimetres in 4 metres?

How many centimetres in half a metre?
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.130 cm
.90 cm
. 3 500 metres
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Answers

. line longer than 4 cm

. a square of side 3cm (within approx 2mm)

. 1 500 metres
. 400 cm

.50 cm
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